
Pos Part Size Qty. Link EUR Total Comments
1 Alu extrusion 8040, threaded 1150mm 2 Vallder 38,98 77,96 Lower frame side
2 Alu extrusion 8040 800mm 2 Vallder 27,12 54,24 Wheelbase posts
3 Alu extrusion 8040, threaded 484mm 2 Vallder 16,94 33,88 Lower fram brace
4 T-Connect Plate 80x160mm 2 AluXProfile 11,99 23,98 WB post connector
5 TR8020 Corner Bracket x2 80x40mm 3 Trakracer 16 48 Lower frame brackets
6 End Connector Plate EP 8080 2 Vallder 2,4 4,8 Front Actuator Mount
7 Self Tapping Sleeve M8-M12 12 Vallder 0,23 2,76 Lower Frame
8 Countersunk Screw M8x20 16 AluXProfile 0,14 2,24 T-Connect plate screws
9 Socket Bolt M8x16 28 Vallder 0,38 10,64

10 Socket Bolt M8x25 8 Vallder 0,43 3,44 Back Actuators
11 Socket Bolt M8x12 4 Vallder 0,34 1,36 Front Actuators Plate
12 T-Slot Nuts 40-M8 70 Vallder 0,3 21

Total 284,3 EUR

https://vallder.com/product/alu-profile-40x80/
https://vallder.com/product/alu-profile-40x80/
https://vallder.com/product/alu-profile-40x80/
https://www.aluxprofile.com/t-connection-plate-80x160/a3964
https://trakracer.eu/products/black-tr8020-spare-corner-bracket-80-x-40mm-set-of-2?_pos=24&_sid=78c7246a9&_ss=r
https://vallder.com/product/end-connection-plate/
https://vallder.com/product/self-tapping-sleeve/
https://www.aluxprofile.com/hexagon-socket-countersunk-head-screws-m8x20-black/a3866
https://vallder.com/product/socket-bolts/
https://vallder.com/product/socket-bolts/
https://vallder.com/product/socket-bolts/
https://vallder.com/product/t-slot-nut/

